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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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XX6

BYiE) | GEBERTIC (B)) | EM=E (EAH/#K) | XS EFE

01:25 99 20.0 [/\FR RRi%@01:25 KEFERF (KRBERE)
02:25 99 20.0 [/\FR Ri%@02:25 REFEF (REERES)
03:25 59 20.0 1] TiH@03:25 REFEF (KAEREE)
06:00 59 20.0 i Fie06:00 REFEF (KEEEHE)
08:50 59 20.0 i FnHe08:50 KREFEF (REEREE)
10:20 59 20.0 i FHe10:20 REEEF (REERSE)
11:30 59 20.0 i FiHRe11:30 REEF (KREAERSE)
12:30 59 20.0 i Fnfe12:30 REEF (REEREE)
13:30 59 20. 0 i nHpe13:30 REFEF (REERES)
14:45 59 20.0 i TiHe14:45 REEF (REAEREE)
16:15 59 20.0 i Fiffe16:15 REEF (REERE)
21t 649.0 (110%) 220.0 EGHKEC: 1595. 0000000000002, PH: 6.9

unusual large postFgEt from yesterday (77), set to 60.0 ml.

RE R i ERECEIE TR K.

FERECE (1450. 0 vs 3404.0) 145
REREBT I HEREC/PHE S K, FIRERZMIFEELRR




FRV (ml plant-1)

ET (ml/hr/plant)

0.8 -

0.6
0.4

0.2

600

400

200

25

20

15

60
50
40

30

1.0

0.8

0.6

0.4+

0.2

XX6_0, Day=199 (2025-05-13)

VI, VA8V, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
128

TargetEC=2000. 0, TargetSetEC=1595. 000000
0000002

TargetPH=6. 0, TargetSetPH=6.9

]

1

I

4 ByWoFv @D199 03:46: ET=128 Fg=220.0 Ro=53.0

4 300

- 200

- 100

ANEANEE )R ) BA | BA | BA | BE | BE [ RE [ RE [ RS [ RS | R | R | R5 | RS | RS | A5 | A5 | RS | BAH | °® | ™ | A

.(

\ A A WarAing: ,Fol | _obs', 'PPFD obs'] is missing A A A A

s'] is missing

1

] = RH _Warning: lcol ['RH obs’, 'RHo obs’] is missing

o VPD

0.0 0.2 0.4 0.6 0.8 1.

0

cumET (ml/plant)



hour

140
:35
:30
125
125
125
:40

%,
&

100

80

- 60

- 40

§_

“

Q)
)_{?
5
s
BN
4
%

%
LN
—&&

Y

2
%
L@

%5

2
N
L

&

%
o
%

§

)
-

.

o %

3,



XX6

FriE) | EBIATK (FD) | ERE (EA/K) | XK EFE
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02:10 170 20.0 |Z =& BRi%e02:10 REEF (KEAERE)
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2it]2210.0 (13%) 260.0 3EUHKEC: 1595. 0000000000002, PH: 6.9
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unusual large postFgEt from yesterday (68), set to 60.0 ml.
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FriE) | EBIATK (FD) | ERE (EA/K) | XK EFE
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BriE) | EBIATK (FD) | EBE (EH/HK) | XK iR

01:05 170 20.0 (&= B1%@01:05 REEF (KHAEZERE)
02:05 170 20.0 &= 21%@02:05 K FFEHF (KRAERREE)
03:05 170 20.0 1] 1’Ri1%@03:05 KEIEF (KBHERSE)
05:50 170 20.0 3| BRi%@05:50 RFFEF (KAL)
09:10 170 20.0 5 B21%@09:10 KR FFEF (KRAERREE)
10:50 170 20.0 53] BRi%@10:50 RFEF (KEAERE)
12:10 170 20.0 53] BRi%e12:10 XFEF (KEBERS)
13:25 170 20.0 53] R1%@13:25 RHEIEF (KEAERS)
14:45 170 20.0 53] BRi%e14:45 REEF CKREAERSE)
Z3t+[1530.0 (9%) 180.0 #GHKEC: 1595. 0000000000002, PH: 6.9

EORGEBRTHC R IRAERIE I (170 vs 61.0))

2RI\ PRIEES6. 0 ml.
R K i3k [B] RECEUR Fh ok
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